SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 4)

SUBTRACTING UP TO A MILLION

Name:

Time:

Score:

n 507313 — 504300 =

2 797515 — 530210 =

39 527738 — 201103 =

1330355 — 130014 =

5 527202 — 122100 =

6 887432 — 416232 =

N 504816 — 302710 =

9 416232 — 314211 =

9 289291 — 179060 =

100266816 — 35010 =

1292018 — 10006 =

12) 531525 — 421502 =

13396580 — 112040 =

1) 213729 — 2229 =

15) 878937 — 757327 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 4
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666394 — 226200 =

527931 — 500800 =

272475 — 172152 =

284869 — 111269 =

287047 — 3007 =

279542 — 275112 =

564676 — 204406 =

614282 — 413220 =

922363 — 301042 =

8056836 — 800112 =

893104 — 331101 =

811744 — 500041 =

380758 — 40058 =

982717 — 860010 =

665397 — 131060 =
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